396-3658Y1

Case iH 5310 8R30 Tank Mounting

SurePoint Instructions
“Ag Systems
Applicator Manufacturer: c A SE ’i’

Kit Number: 516-02-050100

396-3658Y1 - Case iH 5310 8R30 Page 1 Revised: 5/4/2022
Tank Mounting Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



7] Parts List and Exploded View

SurePoint
Ag Systems

ITEM NO. PART NUMBER |[DESCRIPTION QTY.
1 420-2836Y2 Accelerator Tank Stand (12” Tall) 2
2 300-100108-5 5/8" x 1-1/2" Hex Head Bolt - G5 4
3 323-10 5/8" Flange Nut 4
3/4" U-bolt Kit - fits 4" x 6" tube - ( 4" opening) includes flat & Lock
" 380-1062 Washer, Nuts 2

396-3658Y1 - Case iH 5310 8R30 Page 2 Revised: 5/4/2022
Tank Mounting Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.




7} Step by Step Instructions

SurePoint
Ag Systems

1. Mount the tank stands (462-2836Y2) to the the center 4x6 bar using the 3/4"x4"x7-1/2” Square
Bent U-bolt kit provided (380-1062).

2. Mount tank (Catalyst/Accelerator) to the mounting brackets using four (4) 5/8"x1-1/2” hex head
bolts and flange nuts.

3. Inspect tank and bracket mounting for interference and tighten all bolts.

396-3658Y1 - Case iH 5310 8R30 Page 3 Revised: 5/4/2022
Tank Mounting Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



7} Optional Items that may be
SursPoint suggested for this equipment .

o
Ag Systems

Kit Description: Case iH 5310 8R30 Torpedo Mounting Kit
Kit Number: 516-02-050400
Instruction sheet for this kit: 396-3659Y1

1. Mount the Offset Torpedo Mounting Brackets (462-2821Y1) to the the rear bar using the 1/2"x4"x7-1/2”
Square Bent U-bolt kit provided (380-1015).

2. Mount the Torpedo (100 or 200) to the mounting brackets using four (4) 1/2°x1-1/4” hex head bolts and
flange nuts.

3. Inspect bracket and Torpedo mounting for interference and tighten all bolts.

396-3658Y1 - Case iH 5310 8R30 Page 4 Revised: 5/4/2022
Tank Mounting Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



7] General Dimensions
SursPoint SurePoint Catalyst™ System

/—\
Ag Systems

c AT y . - I YST The mounting brackets can be adjusted under the
- N Catalyst™ tank base using any of the multiple slots in

MICRED VOLUME APPLICATION svysTeEm [he tank base for flexible mounting options.

55 Gallon ~ [28.62in] [52.92in]

727.05mm 1344.10mm

L\ 2062Y4
: b
o [e]
fagor) Il
X mm &
[23.75in] | [4.38in]
d 603.25mm T F 111.13mm
4‘ [11.00in] L
279.40mm
- [2283In] ____ _|
580mm
i [58.40in]
110 Gallon - =/ - 1485 3ammm
[50.50in]
1282.70mm
- ® | o — EI
2968Y1 o 6] 5 —Tp
_ - ') _ l.n-D Lnltuié:\g %M_J [—io ﬂ
o
203672 [38.86in] A
e 987mm
3Qfg)é)in] (41" MAX)
SUmm [30.11in] | [4.38in]
— - 764.75mm |:=p 111.13mm
11.00i
4 2[79.40r|r?|]n F
[22.83in]
580mm
396-3658Y1 - Case iH 5310 8R30 Page 5 Revised: 5/4/2022

Tank Mounting Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



/iwé General Dimensions

sursPoint itz SUrePoint Accelerator Tanks
R/, (4N
ACCELERATOR

it : 55 Gallon Tank

= —= P — B E ; 55 GALLOM _
. : (07 WHITE POLY TANK
gy = [18.5] 17 S
l:] 470 [5/8" BOLTS) (’/’
L e R . '.
(7.9] |l
==

{ |
ALLBCE:IL" SLOTS _ T W
= o= | L
t = L ! \ \NEE :%-]

[ ] |
S B 0 —F
\ e
| \ =
[ \\ BLACK POLY
[ ] | : RINSE WATER
34.3] TANK
|| |, I‘ || 872
!
L Iy 3/14" STEEL BASE WITH
Iy } BLACK POWDERCOAT
L a 1o . I" :
[2:2]
(45.5] s ||,
- 1264 |
_ WHITE POLY
[64.9in] | ][5.1”,.1
1698mm (5/8" BOLTS)

= = [=] = [=] = = =
- L] - .= 1'=
[7in] - \ \__3/14 STEEL BASE W
200 ! STHE 5 H
<M | BLACK POWDERCOAT
f [43.1in] BLacCK POLY
[ 109&rmim RIMSE WATER
TANK

110 and 155
Gallon Tank

155 shown - 110 Gallon
only differs in total height.
110 Total Height is 34.9 in.

i a i o = I = = il - L] L]
F2.6in 2.2in
[,345.1:-:"-' o _—I |—_ [55r‘|'|r‘r‘1|
396-3658Y1 - Case iH 5310 8R30 Page 6 Revised: 5/4/2022

Tank Mounting Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.





